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END-OF-YEAR EXAMINATION (2024)
PRIMARY 5
MATHEMATICS
PAPER 1

(Booklet A)
28 October 2024

Total Time for Booklets A z2nd Bookdet B : 1 hour

Name: __ ‘ : , ( ) Class: 5.(

 INSTRUCTIONS 7O CANDIDATES
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De not turn over this page unitit you are old to do so.

Follow all instructions carefully.

Answer all questions.

Use a 2B pencll to shade your answers on the Optical Answer Sheet (OAS),
The use of calculators is NOT allowed.

This bookiet consists of 8 printed pages.
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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 cary 2 marks each.

For each question, four options are given. One of them is the correct answer, Make
your choice (1, 2, 3 or 4) and shade your answey (1, 2, 3 or 4) on the Opfical Answer
Sheet {OAS). {20 marks)

1 What is the value of digit 5 in 1.5287

L 3

1) 5ones
2} Stenths
3) 5hundredths

4) 5thousandths

2 Round 356 788 to the nearest thousand.

1) 356 00D
2) 1356800
3) 357000

4) 358000

3 Amange from the largest to the smallest: 0.7, 0.707, 0.77.

1y or , 077 , 0707
2y o7, 07 , 0707
3} 077 , 0707 , 07

4 o707, 077 . 07
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What is the value of 30 —(7+5)+ 2 x 37

1) 12
2) 27
3) 28

4y 42

Which fraction is equal to 14 sixths?

N 1

2) 2%

. ;1
3) Gﬁ

9 e

Which of the following fractions is greater than % ?

1y 2
2 3
3y =
9y L

BP-~413



The table shows the number of pots of plants owned by 5 members of a

gardening chub.

4

Members

1 Number of pots of
plants

20

10

18,

Which of the following bar graphs represents the information shown in the

table above?

No, of pots of plante

2)

No. of pots of plants

3)

No. of pots of plants

4)

No, of pots of piants
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What is 7% of 4607
1) 28

2) 28

3) 2806

4) 2800

AC is the base of the triangle ACF. Find its height.

1)
2)

3

4)

AD
BF
CE

FC

BP~415




BP-~416

B
10 A picnic umbrelia is ptaced in a garden with comers P, Q, R and S as shown
below. The umbrella is north-west to one of the comers. Which fs the
corner?
N
1 P
2y @
3) R
4 s

11 Meili types 405 words in 10 minutes. How many words can she type in 2

hours?

1) 2430
2) 4050
3) 4860

4y 8100



12

13

7

. '%of the people at a party ane children. %of the remainder are men and the

restare women. There are 20 more children than womeri, How many men

and women are there at the paity?

1) 18
R 3k
3) 48
4) 4

In the figure, AEC arnid BED ase straight lines. AB =BC = CD. Find 2ABC.
C

1}

2)
3)

4)

100°

115°

130

BP-417

B e —




14

15

8
The total capacity of 2 identical jugs is the same as the fotal capacity of 3
ideritical cups. 3.8 £ of water are used fo fiil 4 juigs and 2. cups completely.
What is the capacity of a cup?
§) 0452
) 0384
3 09¢

4) 08¢

Benjamin giued together some unit cubes to fom the solid as shown. How
many more unit cubes does Benjamin need to form the smallest possible
cube? .

1) 10
2) 17
3) 26

4) 38-

End of Bookiet A
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END-OF-YEAR EXAMINATION (2024)

PRIMARY 5
MATHEMATICS
PAPER 1
(Booklet B)

28 October 2024

Total Time for Booklets A and Booklet B : 1 hour

Name:_ . . £ ) Class:5.( )
INSTRUCTIONS TO CANDIDATES
1 1. Do:not turm over this page until you are told to doso,
2. Follow all instructions carefidly,
{3 Answer all questions,
4 Use a dark blue or black balipoint pen to write your answers in the spags provided for
aach guestion,
5. The use of calcuiators is NOT allowed,
8. Do not use correction fluidiape.
7. Do not use highlighters on any part of your answers,

This question paper consists of 11 printed pages and 1 blank page.
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Please. do. no:t;mi’fe in the margin,

2

Questions 16 to 20 carry 1 mark each. Write your answers:in the spaces provided.,
For guestions which require units, give your answers to:the units stated. . {5 marks)

16

—
-

wi
-]

Write two-hundred and twelve thousand, five hundred and four in numerals,

Ans:

A flight took off from Singapore at 21 55 and amived i Dubai af 04 t5the next
day, How long was the flighi? Give your answer in hours and minates. -

Ans h min

—

There are 18 boys in a class of 40 students. What is the ratio of the number of
qirls 1o the number of boys fo.the total number of students in the ciass? Express

your answer in the simplest form.

Ans:

. Sub-Total ;

{Go on to the next page)

Please do not write in the margin.
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19 Express 1‘% as a decimal. Give your answer cofrect to 2 decimal places.

c .
D &
5 =
- ©

E Ans : o
s £
E 20 In the figure, PQRS is a square. Find 2x. =
; O
=

Z 5
c Q R el
o] 300 <
o o)
P X ©
a 2
92 14°—1 i
o o

p S
Ans:

Sub-Total :

B

i

oy

BP~422



4

Questions 21 to 36 catty 2 marks each. Show yourworking clearly and write your answers in
the spaces provided. For questions which vequires units, give your answers in the units stated,

(20 marks)
21 Bernice visited cities A, B, C and D. The tablé shows the temperatures of these
cities.
Clty | Lowest Temperaitre °C) | Highest Temperature (°C)
1 11 a7 o
c 23 ; 33
B 5 | 22

Pleass do notwrite in the margin.

(a)  When Bemice was in some of these cities, the temperature was 25°C.
Namé the cities.

Ans ; (a) Cities

{b)  The table shows the number of students with the following scores.

Scores B |17 | 18 | 19 [ 20 | 23 | 25

Number of students 3 4 2 g | 5 3 1

Ahigher score. means abetter performance. Prizes were giventothe
top 9 students. Cafian won a prize. What was the lowest score he
could have achieved?

Ans : (b}

Sub-Total =

{Go on to the next pagé) ~

Please do not write in the margin.
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Please do notwrite in the margin.

Six lines are drawn in the square grid.

(@

®)

Name the two fines that are paraliel to each other.

Ans :(a) and

Name the line that is perpendicular to EF.

Ans - {b)

Please do not write in tha margin.

Sub-Tofal :

gl J
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 Please do notwrite in the mar
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L]
A

B

Zayn bought a microwave oven, He made a deposit of $280 and paid the
remaining amount in 5 monthly payments of $65.20. How much did the oven

cast?

Ans : §

The figure below. is made up of 6 identical squares. 3 shaded {riangles, A, B and

Care drawnin the figure,

What fraction of the figure is shaded?

Please do not wiite in the margin,

Sub-Total ;

{Go on to the next page}

o]
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Pleasse do not write in the margin.

-
[»>]

7

Mr Koh deposited $7000 in the bank. The bank paid 2.5% interest at the end of
sach year. How miich money did he have In the bank at the end of one year?

Ans:$

Cookies were sokl at mass as shown.

' First 200 g

$7

Every additional 509 or less

$3

ovr

Sarah bought $16 worth of cookles. What is the maximum mass of cockies she

could have bought?

Ans ;

Please do not write in the margin.

uWO)]

Sub-Tota) :
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' Please do notwrite in the margin.

27

8

Mrs Koh made %t_ of orange squash. She drank %:sqﬁ- it and added %&-Df’ water

to the orange squash, What s the volume of ora

your ariswer in the simplest form.

Ans:

nge squash inthe end? Express

Pleass do not write in the margin.

Sub-Total :

(Go on (0. the next page)

—way ]
;
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28 Thefirstfour figures of a pattem are shown below.

Fig. 1 Fig. 2 ’ Fig.3 iG i
The table shows the number of white and grey sqirares @sed for each
figlire.

Figure Number 1 2 3 4
Number of wﬁifé squares 4 1 6. 6
Number of grey squares 0 3 3 10

Whatis the fotal number of white and grey squares in Figure 327

Please do not write in the margin.
Plaase do not write in the margin.

Sub-Total :




Please do not write. in the, margin..

29

. - - . BN AR

- 10

ABCD fs afrapezium. Vertices ABC ars drawn on the square grid below.

B

-

(@ Complete the trapezium ABCD such that AD is twice ihe length of BC.
{b) Measure cADC,

Ans:(a) e

Sub-Total ; |
(Go oni to the next page)

Please do not wiite In the margin.
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Please do notwrite in the margin.

1%

Four classes A, B, C and D washed cars to raise money for g charity. Classes A
and B ralsed a total of $280. Classes B, Cand D together raised $308. The total
amount of money ralsed by all 4 classes is &.fimes the amount that class B raised.

How inuch money did class A ralse?

End of Booklet B

Ans: %

Please do not Whte in the margin.

Sub-Yolal :

BP-~430




END-OF-YEAR EXAMINATION (2024)

- PRIMARY 5
MATHEMATICS
PAPER 2

28 October 2024

TFime : 1 hour 30 minutes

Name: { ) Class: 5.( )
Parent’s Signature;___ .
INSTRUCTIONS TO CANDIDATES
1. Do not tum over this page until you are told to do so.
2. Follow all insfructions carefully,
3. Answer all questions,
4 Use a dark blue ot black ballpoint pen to write your answers in the space provided for
each question,
5. Theuse of an approved calculator is allowed.
8. Da not use comection fhikiftape.
| 7.

Do not use highlighters onany part of YOUr answers.

Paper { Booklet | Possible .—Marks.
Marks Obtained

1 A ‘ 20
B 25

T

100

“This question paper consists of 16 printed pages and 1 blank page.
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& margin.

Please do not write in th

2

Questions 1 to 5 carry 2 marks .e.a.(;b.; Show your working clearly and write your answers
in the spaces provided. Fof questions which require units, give Your answers in the

units stated.

{10 marks)

N

be?

Kassim bought 1.8 kg of mangosteens. How myuch did he pay?

Mangosteens
85¢ per 150 g

Jake used a caleulator 1o find the product of a mixed numberand 4. He pressed
5 instead of 4-and obtained an answer of 48. What should the correct answer

Ans:$_

Please do.not write in the margin.

Sub-Total

Please. do- not write in the margin.
: {Go onto-the next page)
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Plsase do not write in the margin.

3

The graph shows the temperature of water in & cup from 8.10 am to 8.40 am.

125 ;
& 100 J——%
2. S
b N
&, ) =~
g
6 ‘(;\
2 - e
_é \‘Sa(
225 - —
— . o ]
0 i T

8.10am 8.15am 820am 8.25am 830 am 8.35am B8.40am

(a) For how many minutes was the temperature of the water 30°C and below?

Ans :(a) min [1]

{(b) During which 5-minute infervals did the temperature of the water decrease
at the same rate?

Ans (b} a.m. to a.m.

am. fo am. []

Please do not write i i | B
lease do e in the margin Sub-Total -

Please do not write in the margin.

~wo]
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write in the margin,

Pleass ‘do not

13,

BP-~435

4

L«m{q} I:

Keira can read 80 pages of a novel in 1 hour. Jay can read the same number of
pages in g- ofthetime. Attheserates, how many pages can they read altogether
in 1 hour?

Ans:

Please do not write in the margin.

Five boys shared the cost of a birthday gift equally. Whan calculating the amount
for each share, one of the boys made.an error by dividing the cost of the gift by 4
instead of 5. Each boy paid $2.80 more than his share. What shouid be the
correct amaount for each share?

Ans: §

|

Please do not write in the margin. Sub-Total :

(Go.onto the'next page) ——
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For questions 6 10 17, show your working cléarly and write your answers in the spaces provided.
The number of marks avaitable is shown in brackets [ ]at the end of each question or pan-

question. {45 marks)
6 Sale
Usual Price
$1440
Buy first piano at 45% off Buy second piano at 60% off

Please do notwrite in the margin.

Jacob bought 2 pianos of the. same model ata sale. How much money did he
save?

Please do not write in the margin.

Ans:_ 18]

Piease do not write in the margin. ]
Sub-Total : |

oo ]
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Please do not write in the mérgi"h. ‘

6

A rectanguiar tank 40 Gt ong, 25 cm wide and 20 om high was 3. filed with
water at first.

{8)  How much water was inthe rectangular tank at first? Express your
answer in liires,

20 cm

Ans : (a) : H]

{b)  Water began to leak from .the rectangular tank at a rate of 500 ml per
minute. At the same time, water flowed into the rectangular tank from
a tap at the rate of 1.75 £ per minute. How long did it take to fill the
rectangular tank completely with water?

Ans:(b) ___ _ I

Please do not wiite in the margin. Sub-Total :

{Go on to the next page)

Please do not write In the margin.

BP-~437
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How many flagsrare plantsd affogather?

Ans :

Bl

5
BIH
rﬁ :
S
r2g
g
!
al

SubsTotal |
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lows ABCEs adrapezium. BC ks parallel 16 AE. AEHS 4 straight

T
3

suo

9

B Find2EDG,

_ Pleassido notswilts i te s,

b Cieletho WSids WAt dascrbia ABCH sorecily i tha iflon
statemert:

ABED (151 is hot j apaaielogran

Pleasede-notwrite inthegnatdin. Sub-Tota

Woeonte the néxbage)
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10 The figure below shows three packs of candy A, B and C on a balance scale,

The average mass of the packs is 380g. The mass of pack A is an even 2-digit
number. What is the smallest possible difference between the mass of pack A
and B? :

Please do notwrite in the margin.
Please do not wiite in the margin.

Ans : (4]

Pleasg do not write in the margin. Sub-Total :




Please do not write in the margin,

11

The bar graph shows the number of visitors to an exh

Friday.

500
450
400

n 350

250
200

umber of Visitors

N
- 888

(a)

{b)

10

ibition from Monday to

300 =

Mon Tue Wed Thur

What was the average number of visitors from Monday to Friday?

Ans :(a)

Fri

Please do not write in the: margin.

2]

The average number of visitors on Saturday and Sunday was 124 more
than the average number of visitors from ‘Monday-to Friday.

Wiite down ohie possible set of values for the number of visitors on

Saturday and Stnday.

2]

Ans (b)

Please do net wiite in the margin.

Sub-Total :

BP-441

(Go on to the next page)
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Please do not write in the margin.

11

A shop sold large notebaoks at $1.20 each and small notebooks at $0.80 each.
Mary bought some large notebooks and Nancy bought some small nofebooks
from the shop. Mary spent $2.40 moré than Nancy, but had 4 fewer notebooks
than Nancy. How much did Mary spend on the large notebocks?

ANS ; [3]

Please do not write in the margin.

Please do not write in the margin. Sub-Totat : i
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F?ieé$e do notwrits in the margin,

13

12 .
A.shop sold some cupcakes on.Saturday and Sunday. The ratio of the numbsr
of cupcakes sold on Saturday to the number of eupcakes sold on Sunday
was 4:7.

(a) 84 cupcakes were soid on Sunday;. How many cupcakes wers sold on
Saturday and Suriday altogether?

Ans:fa) (1]

1 . .
{b) Y of the cupcakes sold on Saturday and Sunday were strawberry

cupcakes and the rest were chooolate cupcakes. Each strawberry
cupeaks cost $2 more than each chocolate cipcake. The shop collected
$504 from selling all the. cupcakes on Saturday and Sunday. What was
the price of each chocolate cupcake?

Please do not write. in the margin.

Ans : (b) 3]

Please do not write in the margin,

Sub-Total ;
(Go on to the next page)

oo ]
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Please do notwrite in the margin.

Milsy has a triangular piece of paper
¢CDE = 72°. ADGC and BEC are straig
as shown below.

13

ABC with BA = BC, £ABGC = 82° and
ht lines. She fotded & along the line DE

(a) Find 2x.

{b) Find 2y.

Ans : {a)

(2]

Ans : (b)

12

Please do not write in the margin.

Please do not write in the margi-n.

Sub-Totai :
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Please do notwrite in the margin.

14

15 In the figure, PORS is 3 rectangle. PUis twice the length of Q. RVU. and TVQ
are straight lines. The area of the shaded part PGRVT is 165 em? Find the area

of tigngle VA,

21 ¢y

Ans :

Please do not write in the margin.

3

Please do not write in the margin.

Sub-Total :
{Go on to the next page)
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Plaase do not write in the margin.

15

Raiju, Samad and Terry had the same number of coins, Raju and Samad each
had a mix of ten-cent coins and fifty-cent coins. Raju had 7 ten-cent coins while

camad had 15 ten-cent coins. Terry had only fifty-cent coins.

{2)

(b)

(cy

Of the three boys, who had the most money and who had the least?

Ans : (a) Most

Least

—

What was the difference in the total value of Raju and Samad's coins?

Ans : (b} [2}

Samad used all his fity-cent coins to buy some snacks. He then had $10
less i ceins than Terry.  How many fifty-cent coins did Terry have?

Ans : {c) M

Please do not write in the margin. Sub-Total *

Please do not write in the margin.

coo>|
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Please do notwrite in the margin,

16

Amy and Beatrice have 174 stickers. %of Amy's stickers is 18 more than % of
Beatrice’s stickers, How many stickers must Am

of Beatrice’s stickers is twice of Amy's?

End of Paper 2

Ans:

Y give to Beatrice so the amount

Bl

Please do not write in the margin.

Please do notwsite In the margin.
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SCHOOL ANGLO-CHINESE SCHOOL (JUNIOR)
LEVEL PRIMARY 5
SUBJECT MATHEMATICS
TERM SAZ
PAPER 1
BOOKLET A L o
Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8
2 3 3 1 2 2 4 2
Q9 Q10 QN Q12 Q13 Q14 Q15
2 2 3 1 4 1 2
BOOKLET B
Q16 212504
Q17 | 3 hour l 3 hour L 20 min 1
| I ] ]
8.55p.m, 12.55 am, 3.55am, 4,15 a.m.
6h 20min
Q18 Girls : Boys : Total students
22:18: 40
11:9:20
Q19 71.43
Q20 {90-30-14 =46
Q21{a)|B,C
Q21 (b} |20
Q22 (a) |AB and CD
Q22 (b) | DE
Q23  |$65.20x 5 = $326

BP-449




$326 + $280 = $606
Q24 | 5.
12
Q25 | $7000 + 100 = $70
$70 x 2.5 =$175
$7000 + $175 = $7175
Q26 |$16-37=%9
$9+3=3
50g x 3 = 150g
200g + 150 g = 3509
Q27 7,1 __7
8 X 3 24
72
8 24
21 7 _ 14
24 24 24
14 1 20 _ 5
24 4 24 6
Q28 |32 x32=1024
Q29 (a) || '3
A } ™
:'7 -! i
™
Q29 (o) | 38°
Q30 |$196
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PAPER 2

Q1

1.8kg = 1800g
1800g + 150g = 12
12 x $0.85 = $10.20

Q2

48+5=96
9.6 x 4 = 38.4

Q3 (a)

15min

Q3 (b)

8.10 a.m.to 8.15a.m.
8.15a.m. t0 820 a.m.

Q4

60+~6=10
10x5=50
80+50=16
10x16=16
80+ 80+16=176

Q5

5-1=4
4x$2.80=$11.20

Q6

$1440 - 100 = $14.40
$14.40 x 45 = $648
$14.40 x 60 = $864
$864 + $648 = $1512

Q7 (a)

20 X 40 x 25 = 20000
20000 + 5 = 4000
4000 x 3=12000 = 12

Q7 (b)

1750 - 500 = 1250
20000 - 12000 = 8000
8000 + 1250 = 6.4 minutes

Q8

17+ 16+ 15=48

Q9 (a)

Z£BCE = ZCED = 29°
ZEDC =180°-29° - 29° = 122¢

Q9 (b)

Is not, is not

Q10

380g x 3=1140g
1140g + 2 = 570g

BP~451




570g - 98g = 4729
472g - 989 = 3749

Q11 (a)

160 + 240 + 480 + 400 + 360 = 1640
1640 + 5 = 328

Q11 (b)

328 + 124 =452
452 x 2 =904
500 and 404

Q12

14 x $1.20 = $16.80
18 x $0.80 = $14.40
$16.80 -

Q13 (a)

84'+7 = 12
12 x4 = 48
84 + 48 = 132

Q13 (b)

132 +4 =33
33x3=99

33 x2 = %66

$594 - $66 = $528
$538 + 4 = $132
$132 x 3 = $396
$396 + 09 = %4

Q14 (a)

ZBCA = (180° - 82°) =2 = 49°
/x=180° - 49° - 72° = 59°

Q14 (b)

180°-72°-72° = 36°
180° - 49° - 36° = 95°

Q15

1

3
-;— 21x 14 = 147
L x7x14=49

147 + 49 =196
196 - 165 = 31

Q16 (a)

‘Most: Terry

Q16 (b)

Least. Sammy

15-7=8
50 cents - 10 cents =40 cents

BP-~452



40 cents x 8 = 320 cents

Q16 (c)

15 x 10 = 150 cents
$10 + $1.50 = $11.50
$11.50 + $0.50 = 23

Q17

174+3=58
174 + (18 x 5) = 264
264 +8=33
33x3=99

99 - 58 = 41

BP-~453
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